Name Date

[Multiplication 4 Digit (In Grid) - Step-by-Step Lesson ]

Lesson 1 Multiplication 4 Digit:

Explanation:
First we multiply 6 by 7675. So we get
7675
X6
46050
Then we multiply 8 by 7675.
7675
X 86
46050
61400x “x” represents a O holding the tens’ place.
Now we multiply 2 by 7675. So we get
7675
X286

46050
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Name Date

61400x

15350xx  “xx” represents a 00 holding the hundreds’ place.
Now we multiply 6 by 7675. So we get

7675

X 6286

46050

61400x

15350xx

46050xxx “xxx” represents a 000 holding the thousands’ place.

48245050

So the answer is: 48245050.
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